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Test Syllabus: Unit # 4 (Turning Effect of forces)
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NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct, fill that circle in

front of that Question with Marker or Pen ink. Cutting or filling two or more circles will result in zero mark in that question.7

Which one is not an example of a vactor quantity? § o e Sy i S| a1
Speed 3w | (D) | Acceleration o LSy | (C) | Velocity &¥s | (B) | weight o (A)
In a right angled triangle length of base is 4 cm asee sldem (Sl (Soacld S Eilia a3l AiailE S R
and perpendicular is 3 cm. Length of hypotenuse S el (S i 8w 3em Sl (S| -2
will be:
5cm | (D) | 4 cm © | 3cm | (B) | 2cm (A)
The number of perpendicular components of a L= s N (S Gl eS (3 see S Gy (S 3
vector is:
2 [ D) | 4 © | 3 [ B) ] 1 (A)
Moment arm is represented by: op S b Sl Ciese | 4
r [ (D) ] T © | F [ B) ] W (A)
The knowledge of center of gravity helps a lot in S8 e =S da dilse s G ale K (g K Gl S 5
solving the problem on: -uR
Rigidbodies %%, | (D) | (P20 | © | Opisoss | ®) | yoite | @)
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The types of equilibrium are: o ol Sal S| .6
4 [ D) | 1 © | 2 [B) ] 3 (A)

First condition of equilibrium is: b Ao Sadess) posh e | T
> N=0 (D) > R=0 (©) D> r=0 (B) Y F=0 (A)

2. Answer the following Question:

2x7=14) : Sedclisy paida SN g A 7 02

(i) Define Torque and write its unit. S i S G ) o S SSUE | ()
(ii) State second condition for equilibrium and write Va8 S (Gl sl oS Gl el 5 s (Sl 655 | (i)
its formula. - e
(i) What factors on which moment of a force o= U 2 0 OS Jbandl IS juysd ol Quiaga | (i)

depends?
(iv) | Define Rigid Body and give one example. (o Jhe S sl aS Ci (S Shda, | (i)
(v) | Write the principle of moments. e Jpal S Galiaga | (V)
(vi) Diffgrentiate between centre of mass and centre of | - —iaS gl 5 (3% e (s S Gl T o e Gl S | (vi)
gravity.
(vii) | What is meant by neutral equilibrium? § 2 e S w5580 J e | (vil)
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Note: Attempt the question in detail.

(5+4=9) - =g @l (Auali S J g Jud 7 0 1068

Q: 3 (a) Describe the condition of equilibrium.

S Pkl pd (S el S ()3l s

(b) A nut has been tightened by a force of 200N

is required to loosen the same nut with 150 N
force?

using 10cm long spanner. What length of a spanner

4 0A S 200N =S S Jleaial s Lal10cm S S (<)
LS ) S S 0as b (S 150N ok = W8 La S
SIS TS NI
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